

# Addieren mit positiven und negativen Zahlen

Achte auf die Vorzeichenregeln! Klappe die Lösung um!

Angabe	Lösung
1) $(-5) + (-5) =$ $(-4) + (+8) =$ $(+6) + (+7) =$ $(+8) + (-9) =$	1) $(-5) + (-5) = -10$ $(-4) + (+8) = +4$ $(+6) + (+7) = +13$ $(+8) + (-9) = -1$
2) $(-3) + (-5) =$ $(-9) + (+9) =$ $(+6) + (+8) =$ $(+8) + (-8) =$	2) $(-3) + (-5) = -8$ $(-9) + (+9) = 0$ $(+6) + (+8) = +14$ $(+8) + (-8) = 0$
3) $(-8) + (-5) + (+4) =$ $(-8) + (+7) + (-5) =$ $(+6) + (+4) + (-9) =$ $(+8) + (-9) + (-4) =$	3) $(-8) + (-5) + (+4) = -9$ $(-8) + (+7) + (-5) = -6$ $(+6) + (+4) + (-9) = +1$ $(+8) + (-9) + (-4) = -5$
4) $(-2) + (-5) + (-4) =$ $(-4) + (+9) + (-8) =$ $(+5) + (+7) + (-6) =$ $(+3) + (-9) + (+4) =$	4) $(-2) + (-5) + (-4) = -11$ $(-4) + (+9) + (-8) = -3$ $(+5) + (+7) + (-6) = +6$ $(+3) + (-9) + (+4) = -2$
5) $(-15) + (-6) =$ $(-21) + (+7) =$ $(+62) + (+9) =$ $(+85) + (-4) =$	5) $(-15) + (-6) = -21$ $(-21) + (+7) = -14$ $(+62) + (+9) = +71$ $(+85) + (-4) = +81$
6) $(-52) + (-3) =$ $(-27) + (+6) =$ $(+62) + (+3) =$ $(+48) + (-6) =$	6) $(-52) + (-3) = -55$ $(-27) + (+6) = -21$ $(+62) + (+3) = +65$ $(+48) + (-6) = +42$
7) $(-16) + (-6) + (-15) =$ $(-42) + (+5) + (+12) =$ $(+34) + (+8) + (-3) =$ $(+24) + (-7) + (+16) =$	7) $(-16) + (-6) + (-15) = -37$ $(-42) + (+5) + (+12) = -25$ $(+34) + (+8) + (-3) = +39$ $(+24) + (-7) + (+16) = +33$
8) $(-42) + (-24) + (+13) =$ $(-27) + (+9) + (-18) =$ $(+53) + (+11) + (-7) =$ $(-35) + (-7) + (-13) =$	8) $(-42) + (-24) + (+13) = -53$ $(-27) + (+9) + (-18) = -36$ $(+53) + (+11) + (-7) = +57$ $(-35) + (-7) + (-13) = -55$